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1. Olkoon M = (S, R, v), missi
S - {a7b7cﬁd767f}

R = {<a’ b>’ <b’ C>7 <b’ d>v <b7 €>> <Cv d)? <d7 d>>

{e,e), (e, [), (f,a)}
{s € S |v(s, P)=true} = {a,b,e}

P
{s € S|v(s,Q)=true} = {c, f}
{s € S|v(s,R) = true} = {f}

Olkoon F' = {R}. Tutki, pateeko
2) M,a = A(PUQ)
b) M.a = A(PUQ)
¢c) M,a =EGP
d) M,a Er EGP
2. Olkoon M = (S, R, v), missé
S ={a,b,c,d e}

R = {{a,b),{a,c),{(a,d), (b,c),(b,d), {(c,a),
(c.e),(d,b),{d,e), (e, b)}
{s € S|wv(s, P) =true} = {a,b}
{s € S|v(s,Q) = true} = {b, c,d}
Missé tiloissa lause

AXE((P — QU(PAQ))

on tosi?



3. Olkoon M = (S, R, v), missi

S =Aa,b,c,d e}
R ={(a,b),(a,c),(b,d),{d,b),{c,e), (e, ),
(d,e)}

{s e S|v(s, P)=true} = {a,c}
{s €S |v(s,Q) = true} = {b, c}

Missa tiloissa lause
AG (Q — A(EFPUAFP))

on tosi?



